VF-50 / 71 szabalyoz¢ jelleggorbe - 27 mbar

—o&— pbe = 0,2 bar

—»— pbe = 0,3 bar

40,00
—+— pbe = 6,0 bar
oy — — SG20§ 32,4 mbar
© |
g N\
E, 30,00 \& | AC+5%=28,4 njoar
& ——d — — — & T — T N T I 1
2 (SR S S i _ ?’_‘E | Pe=60b
£ AC-5%=25,6 mbar \'\
(< P~
g
He) Poe = §,3 bar
@ 20,00
g Pre = OJ2 bar
X
10,00
0 10 20 30 40 50 60 70 80
Térfogataram: Q [m®h] féldgaz
VF-50 / 72 szabalyozé jelleggorbe - 85 mbar
—o—pbe =0,2bar —»— pbe =0,3 bar
110,00
—+— pbe = 6,0 bar
= = SG20F 102mber
"= 100,00 ,
©
o |
£ |
|
2 !
£ 90,00 { e e e Tt
o 4
> 4
T —
c
¢ s -t As\i———— K
AC-5%=80,7 rijoar Poe = 02 bar \<> Poe = 0,3b4r
70,00
0 10 20 30 40 50 60 70 80

Térfogataram: Q [m?h] féldgaz




VF-100 / 73 szabalyozé jelleggorbe - 27 mbar

—o—pbe=0,2bar —»—pbe =0,5 bar

40,00 —+— pbe = 0,75 bar —A— pbe =6,0 bar
— — — — —| SG20= 344 mbar
@
o) &
£ 30,00 ACTEE 284 mbar o= 6.0 bar
— o o e e e e e e e e e e e ] e e e e e e I ——
% gy + -ﬁv TV v q -ﬂ_ A .:. A
[72] E———
‘@ e e e e g e = e — i e o sl 1
S AC-5%25,6 mbar Pre = 0,74 bar
o Poe = 0,5 bar|
>
€
e}
@ 20,00
£
X
Pre 90,2 bar
10,00
0 10 20 30 40 50 60 70 80 90 100 110
Térfogataram: Q [m®h] féldgaz
VF-100 / 74 szabalyozé jelleggorbe - 85 mbar
—o—pbe =0,2bar —»— pbe =0,5 bar
110,00 —+— pbe =0,75 bar —A— pbe =6,0 bar
| | SG20=10p mbar
— 100,00
©
o]
E
=z
;
90,00 S e T T G s S B B s St 2. =60ty
5 B i i : ; = A—t
[ N B e
o o— |
N e e B ___--_______54____- |
' AC-5%=80,7 mbar
Poe = 0,75 par
Poe = D,2 bar
K Poe = 0,5Har
70,00
0 10 20 30 40 50 60 70 80 90 100 110

Térfogataram: Q [m®h] féldgaz




40,00

VF-160 / 75 szabalyoz6 jelleggorbe - 27 mbar

—o—pbe =0,2 bar —*— pbe =0,5 bar

—+—pbe=2,0bar —A— pbe =6,0 bar

' — T 7 $G20 32,4 npbar
_g % I AG+10%429,7 npar
£ 30,00 e T e BN e B e S S S
& X—I@L ‘ﬁ"x A = A A A N
n AN "
i bl . )
] ror+rEF-reerst -t -4l vrFr—fFr-t-t-1—
S >\g ACI10%=p4,3 mijar
c
2
o 20,00
E pbe = 0,2 bar )9 Pbe = 0.% bar \ Poe = 200 bar k X
Poe [~ 6,0 bar
10,00 .
0O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200
Térfogataram: Q [m?/h] féldgaz
VF-160 / 76 szabalyozé jelleggorbe - 85 mbar
—o—pbe =0,2bar ——pbe =0,5 bar
110,00 —+—pbe=2,0bar —A— pbe =6,0 bar
|| 9620=[102 miar
= 100,00 '
[ |
— |
E | Lo
— / AC+10%=P3,5 mbar
& i A N NN N N N () N Y P et
i
£ 90,00
> —— L2 E——
= | \\z\&\‘\ﬁ\—-\ Pre-=|6,0 baf
~g ~——] ﬂ\\ I ——
Q \)(\\K\ '\"F\\‘ NP\
=y | |
£ Phe 9 2,0 ba =
¥ 80,00 =6, R —~
’ "\\ N ANEN
+r———~r—————¢—————--——————X———————————w}- i+ \
Poe F 0,2 bdr Pod = 0,5 ar AC-10%=7p,5 mbgr \A
70,00 .
0O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200

Térfogataram: Q [m?/h] foldgaz




